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1)  Which of the following are a component of M1? 

A) bonds 

B) money market funds 

C) checkable deposits 

D) all of the above 

E) none of the above

2)  The interest rate will increase as a result of which of the following events? 

A) an open market purchase of bonds by the central bank 

B) a decrease in income 

C) an increase in income 

D) all of the above 

E) none of the above 

3)  Suppose the central bank wishes to conduct contractionary monetary policy. Given this, we would expect which of the following to occur? 

A) a central bank sale of bonds and an increase in the interest rate 

B) a central bank purchase of bonds and an increase in the interest rate 

C) a central bank purchase of bonds and a reduction in the interest rate 

D) a central bank sale of bonds and a reduction in the interest rate

4) Suppose that the price of a bond paying 80$, is 50$. What is the net interest on the bond?

i=80/50-1=.6
5)If the net interest of a bond paying 100$ is 5%, at what price does it sell?

P=100/1.05

For 6) and 7) suppose that money demand is Md=$Y*(.5-i).

6)If the Ms=100$ and $Y=250$, what is the equilibrium interest rate?

100=250*(.5-i), i=.1

7)If Ms increases to 120$, what is the equilibrium interest rate?

120=250*(.5-i), i=.02

For 8) 9) and 10):

· G=I=15, c0=6 and c1=3/4. 
· Firms order in each period the amount that they ordered in the previous period, minus any unintended inventory accumulation in the previous period. 

· In period 0 the economy is in equilibrium and T=8

· In period 1 T raises to 20

· From period 2 on, T returns to the initial value 8.

8) What is actual (total) investment in period 1?
Y(0)=4*(30+6-3/4*8)=120

Z(1)=36+3/4*(120-20)=111
Iu=9
Itot=15+9=24

9) What is total output in period 2?

Y(2)=Z(1)=111

10)What is the equilibrium value of private saving at infinity?
Y(inf)=Y(0), because T returns to the initial value after period 1

So: S(inf)=S(0)=-6+1/4*(120-8)=22
